Balancing Equations Mega Worksheet!

Synthesis
Two into One

__MgCl, + __ 0, — __Mg(ClO3),
__Na+_ O,—_ NaO

_ KO+ H,O0— KOH

_Nog + __Haq = __NHsg
_NH3g + __H,0p — __NH4OHy
_Pg + _Clyg — __PClyg

_Nagy + _ Clygy — __NaCl
_COyg + _HOp —  __HaCOs¢
_MgOy + __HOp — __Mg(OH)y
_Co + Oy — _COy)

_Mgg + _Ox9 — __MgOg

_ P03+  H,0— _ H3PO;
__BaO+_ CO,— _BaCO;

__BeO+_ CO,— _BeCO;
__ALOs+ _ H,O0— __ Al(OH),
__N)Os+  H,0—_HNO;

_ NaCl+__0,— _ NaClOs
__Ra+_Cl,— _RaCl,

Decomposition

One into Two

__Ni(ClOs), > __NiCl, + _0;,
_AgO— _ Ag+_ O,

__HNO, — _N,O3+ _H,0
_NaClyy — __Nag + _ Clyg
_H0p = __Hyg + __Oyy)
_HgOy — _Hgy + _Oy9
_KCIO35 — __KClgy + __Oy
__Ca(OH)yy — _ Caly + _ H,0(
__CaCOsy — _ CaO + _ COyy
_ HxCOs34q — __H,0p) +__COy
__Fe(OH); — __Fe,05+__H,0
_Zn(CO;) —» __ZnO + __CO,
__Cs,CO3— __Cs,0+__CO,
__AI(OH); - _ALOs + __H,0

__ H,S0, — __SOz+ __H,0
__RbCIO; —» __RbCI+ 0O,
__RaCl, - Ra+_Cl,

Combustion

Always make carbon dioxide and water

_CH;+_0O,—»_CO,+__H,O

_CHg+_ O,— _CO,+_H,O

_CiHiog + Oz — _COyg + __H:O
_ CeH10s+__ O — _ CO+ __H0
__CHOH+ 0O,— CO,+ H,O
__C/HO+ 0O,— CO+_ H),0

__ CH;COCHz; + _ 0,— CO,+_H,0
__H,C,04+ O,— CO,+_ H,0O
__CHg+ O, — CO,+_ H,0




Single Replacement Double Replacement

SWAP cation for cation, or anion for SWITCH cations and anions
anion __Ag(NO3) +  KCl— _ AgCl+ __ K(NO»)

__Al+__Pb(NO3); — __Pb+ __AI(NO3), __Ky(CO3) + __BaCl, — __KCl + __Ba(COs)

_Cly+__Nal - __l,+__NaCl __Aly(SOu)3 + __Cag(POs), — __Al(PO,) + __Ca(SO,)

—Clg + _NaBley = _NaCley + _Brz __AJ(C;H30,) + __Ky(CrOy) — __Aga(CrOy) + __K(C3H30,)

—Nag *+ _HOp = _NaOHug *+ _Hag __Cda(POs)2 + __ (NH.);S — __CdS + __ (NH4)3(PO.)

—Mgy + _HOg = _M3Oy * _Haw |  co(0H),+_HNO;) —__Co(NO:); + __(HOH)

—Fet_AgCH0) = _Ag+_Fe(CaHOze | Aj0H), + _H(C,H0,) — _AI(CH:02): + _ (HOH)
_Al+_CuCl,— _Cu+__AICl
_Br,+_Cal,—» _I,+_CaBrn,
_Al+_HCl— _AIClz+ _H,
_Mg+__HCl—_ MgCl,+__H,
_Zn+ __Hy(SO4) — __Zn(SOy) + _H,
__Fe+_CuSO,—_ Cu+_FeSO,

_Clz + _Mglz — _|7_ + _MgCIz




